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Question Id : 92090614780 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

It depends on who is giving the rating: Centre on India’s rank in
press freedom index

KRISHNADAS RAJAGOPAL, NEW DELHI

Solicitor-General Tushar Mehta, appearing for the government in the Supreme
Court on Tuesday, made light of India's fall to 1615t position in press freedom
ranking, saying “that depends on who is giving the rating. I can have my own forum
and give India the first rating”.

The remake was in response to the Supreme Court’s observation that India has
fallen to the 161%t position out of 180 countries in the World Press Freedom Index
published by the non-profit organization, reporters Without Borders. In 2022, India
was ranked at 150.

India is ranked behind countries such as Afghanistan, Pakistan and Somalia.

“India 15 161 in ranking in journalistic freedom,” Justice K.M. Joseph,
addressed the Union and Gujarat government, represented by Mr. Mehta during a
hearing in the Billkis Bano case.

HEARING ON JULY 10

: Change between Justice Joseph and Mr. Meht came while the Supreme
Court ordered the publication of a notice giving the details of the case and the next
date of court hearing, July 10, in two vernacular papers in Gujarat to alert those
unserved among the 11 convicts who were released prematurely from their life
imprisonment. They had been found gulty of the gang rape of Ms. Bano and the
murder of her family members. Ms. Banop and other writ petitioners have separately
challenged their remission.

The hearing, at one point, saw the Supreme Court wonder whether some of the
released conviets were making a “mockery” of or even “playing” with the court by
either going incognito to hamper the serving of notice of the case on them or seeking
time to file counter affidavits. Previous hearings have been a no go with lawyers for
the men seeking adjournment on procedural grounds.

The court decided to publish the notice in the newspapers so that the convicts
would not take the plea of ignorance and the case could go ahead and be heard on
merits.

Sub questions

Question Number : 1 Question Id : 92090614781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Synonym of the term ‘incognito’ is:

(1) Inclusive (2) Inaudible
(3) Undutiful (4) Concealed
Options :

92090658401. 1
92090658402. 2
92090658403. 3
92090658404. 4

Question Number : 2 Question Id : 92090614782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘Made light of means:

(1) Removed darkness
(2) Put something on fire
(3) To act as if something is serious especially when it is not serious

(4) Play down

Options :

92090658405. 1
92090658406. 2
92090658407. 3
92090658408. 4

Question Number : 3 Question Id : 92090614783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The antonym of ‘remission’ is:
(A) Exoneration

(By Censure

(C)  Reprieve

(D) Increase

Choose the correct answer from the options given below :

(1)  (A)and (B)
(2)  (B)and (C)
(3)  (B)and (D)
(4) (D) only
Options :
92090658409. 1
92090658410. 2

92090658411. 3
92090658412. 4

Question Number : 4 Question Id : 92090614784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Going incognito’ means:

(A) Using false name
(BY Wearing a disguise
(C) To be recognised
(D) Not to be identified.

Choose the correct answer from the options given below :

(1)  (A)and (D)

(2) (A), (B)and (C)

(3)  (A), (B), and (D)

(4) (A, (B), (C) and (D)

Options :

92090658413. 1
92090658414. 2
92090658415. 3
92090658416. 4



Question Number : 5 Question Id : 92090614785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Why Justice K.M. Josheph addressed Gujurat Government during the hearing?

(1)  Gujurat is the reason behind our sharp fall in press freedom ranking
(2) India 1s ranked 161, behind nations such as Pakistan, Afganistan ete.
(3) Bilk is Bano case was iniatiated and registered in Gujurat.

(4)  The murder convicts were not arrested by the then Gujurat government.

Options :

92090658417. 1
92090658418. 2
92090658419. 3
92090658420. 4

Question Id : 92090614780 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



It depends on who is giving the rating: Centre on India’s rank in
press freedom index

KRISHNADAS RAJAGOPAL, NEW DELHI

Solicitor-General Tushar Mehta, appearing for the government in the Supreme
Court on Tuesday, made light of India’s fall to 1615t position in press freedom
ranking, saying “that depends on who is giving the rating. [ can have my own forum
and give India the first rating”.

The remake was in response to the Supreme Court’s observation that India has
fallen to the 161%t position out of 180 countries in the World Press Freedom Index
published by the non-profit organization, reporters Without Borders. In 2022, India
was ranked at 150.

India is ranked behind countries such as Afghanistan, Pakistan and Somalia.

“India 15 161 in ranking in journalistic freedom,” Justice K.M. Joseph,
addressed the Union and Gujarat government, represented by Mr. Mehta during a
hearing in the Billkis Bano case.

HEARING ON JULY 10

: Change between Justice Joseph and Mr. Meht came while the Supreme
Court ordered the publication of a notice giving the details of the case and the next
date of court hearing, July 10, in two vernacular papers in Gujarat to alert those
unserved among the 11 convicts who were released prematurely from their life
imprisonment. They had been found guilty of the gang rape of Ms. Bano and the
murder of her family members. Ms. Banop and other writ petitioners have separately
challenged their remission.

The hearing, at one point, saw the Supreme Court wonder whether some of the
released conviets were making a “mockery” of or even “playing” with the court by
either going incognito to hamper the serving of notice of the case on them or seeking
time to file counter affidavits. Previous hearings have been a no go with lawyers for
the men seeking adjournment on procedural grounds.

The court decided to publish the notice in the newspapers so that the convicts
would not take the plea of ignorance and the case could go ahead and be heard on
merits.

Sub questions

Question Number : 1 Question Id : 92090614781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Synonym of the term ‘incognito’ 1s:

(1) Inclusive (2) Inaudible
(3)  Undutiful (1) Concealed



Options :

92090658401. 1
92090658402. 2
92090658403. 3
92090658404. 4

Question Number : 2 Question Id : 92090614782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘Made light of means:

(1) Removed darkness
(2) Put something on fire
(3) To act as if something is serious especially when it is not serious

(4) Play down

Options :

92090658405. 1
92090658406. 2
92090658407. 3
92090658408. 4

Question Number : 3 Question Id : 92090614783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The antonym of ‘remission’ is:
(A) Exoneration
(B) Censure
(C) Reprieve

(D) Increase

Choose the correct answer from the options given below :

(1) (A) and (B)
(2)  (B)and(C)
(3) (B)and (D)
(4) (D) only

Options :
92090658409. 1



92090658410. 2
92090658411. 3
92090658412. 4

Question Number : 4 Question Id : 92090614784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘(zoing incognito’ means:

(A) Using false name
(B) Wearing a disguise
(C) To be recognised
(D) Not to be identified.

Choose the correct answer from the options given below :

(1)  (A)and (D)

(2 (A), (B)and (C)

(3)  (A), (B), and (D)

(4)  (A), (B), (C) and (D)

Options :

92090658413. 1
92090658414. 2
92090658415. 3
92090658416. 4

Question Number : 5 Question Id : 92090614785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Why Justice K.M. Josheph addressed Gujurat Government during the hearing?

(1)  Gujurat is the reason behind our sharp fall in press freedom ranking
(2) India is ranked 161, behind nations such as Pakistan, Afganistan ete.
(3)  Bilk is Bano case was iniatiated and registered in Gujurat.

(4)  The murder convicts were not arrested by the then Gujurat government.

Options :

92090658417. 1
92090658418. 2
92090658419. 3



92090658420. 4

Sub-Section Number : 2
Sub-Section Id : 920906476
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090614786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The synonym of the word VINDICTIVE' is

(1) Revengeful (2) Bigoted
(3)  Demonstrative (4) Strategic
Options :

92090658421. 1
92090658422. 2
92090658423. 3
92090658424. 4

Question Number : 6 Question Id : 92090614786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The synonym of the word "VINDICTIVE' 1s

(1) Revengeful (2) Bigoted
(3) Demonstrative (4) Strategic
Options :

92090658421. 1
92090658422. 2
92090658423. 3
92090658424. 4

Question Number : 7 Question Id : 92090614787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate prepositions from the options given below:

The e-cycle project the city 1s slowly finding takers most of them college
students who would earlier depend cabs and bike taxis
commuting.

(1) in, upon, to (2) in, on, for

(3) in.off, for (4) on, with, on

Options :

92090658425. 1
92090658426. 2
92090658427. 3
92090658428. 4

Question Number : 7 Question Id : 92090614787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:

The e-cycle project the city is slowly finding takers most of them college
students who would earher depend cabs and hike taxis
commuting.

(1) in, upon, to (2) 1in, on, for

(3) in.off, for (4) on, with, on

Options :

92090658425. 1
92090658426. 2
92090658427. 3
92090658428. 4

Question Number : 8 Question Id : 92090614788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the meaning of the term “Bon vovage”

(A) Used to express good wishes to someone about to set off on a journey.
(B) Good morning.

(C) Long Journey.

(D)  Good night.

Options :

92090658429. 1
92090658430. 2
92090658431. 3
92090658432. 4

Question Number : 8 Question Id : 92090614788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the meaning of the term “Bon vovage”

(A) Used to express good wishes to someone about to set off on a journey.
(B) Good morning.

(C) Long Journey.

(D)  Good night.

Options :

92090658429. 1
92090658430. 2
92090658431. 3
92090658432. 4

Question Number : 9 Question Id : 92090614789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correctly spelt word from the following option:-

(1) BITUMENEZE (2) BIBEMINIZE
(3) BETUMINEZE (40 BITUMINIZE
Options :

92090658433. 1
92090658434. 2
92090658435. 3
92090658436. 4



Question Number : 9 Question Id : 92090614789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correctly spelt word from the following option:-

(1) BITUMENEZE (2) BIBEMINIZE
(3) BETUMINEZE (1) BITUMINIZE
Options :

92090658433. 1
92090658434. 2
92090658435. 3
92090658436. 4

Question Number : 10 Question Id : 92090614790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fear of open spaces 1s called:

(1) Agoraphobia (2) Anachronism
(3)  Anecdote (4) Apiary
Options :

92090658437. 1
92090658438. 2
92090658439. 3
92090658440. 4

Question Number : 10 Question Id : 92090614790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fear of open spaces is called:

(1) Agoraphobia (2) Anachronism
(3) Anecdote (4) Apiary
Options :

92090658437. 1
92090658438. 2
92090658439. 3
92090658440. 4



Question Number : 11 Question Id : 92090614791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A boat goes 12 km in one hour along the stream and 6 km in one hour against the
stream. Th speed of the stream in km/h 1s:

(1) 2 (2) 3
(3) 4 (4) 5
Options :

92090658441. 1
92090658442. 2
92090658443. 3
92090658444. 4

Question Number : 11 Question Id : 92090614791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A boat goes 12 km in one hour along the stream and 6 km in one hour against the
stream. Th speed of the stream in km/h 1s:

(1) 2 (2) 3
(3) 4 4 5
Options :

92090658441. 1
92090658442. 2
92090658443. 3
92090658444. 4

Question Number : 12 Question Id : 92090614792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For x = 3, find the value of " +x* - x' —x" +x-1.

(1) 280 (2) 270
(3) 290 (4) 300
Options :

92090658445. 1
92090658446. 2



92090658447. 3
92090658448. 4

Question Number : 12 Question Id : 92090614792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For x = 3, find the value of x" +x* - x* —x" +x-1.

(1) 280 2) 27
(3) 290 (4) 300
Options :

92090658445. 1
92090658446. 2
92090658447. 3
92090658448. 4

Question Number : 13 Question Id : 92090614793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sides of three solid metallic cubes are 30em, 40cm and 50¢m respectively. Find
the side of the new cube formed by melting the three cubes (in em)

(1) 60 (2) 120
3) 90 (4) 80
Options :

92090658449. 1
92090658450. 2
92090658451. 3
92090658452. 4

Question Number : 13 Question Id : 92090614793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sides of three solid metallic cubes are 30em, 40cm and 50em respectively. Find
the side of the new cube formed by melting the three cubes (in ¢m)

(1) 60 (2) 120
3) 90 (4) 80



Options :

92090658449. 1
92090658450. 2
92090658451. 3
92090658452. 4

Question Number : 14 Question Id : 92090614794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ankit owes ¥ 42,580 on his credit cards, but he could pay only ¥ 12,580. If the annual
rate of compound interest 1s 10%, then how much will he owe after 4 years?

(1) Rs. 42,580 (2) Rs. 43,000
(3) Rs. 43,923 (4) Rs. 44,228
Options :

92090658453. 1
92090658454. 2
92090658455. 3
92090658456. 4

Question Number : 14 Question Id : 92090614794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ankit owes ¥ 42,580 on his credit cards, but he could pay only  12,580. [f the annual
rate of compound interest is 10%, then how much will he owe after 4 years?

(1) Rs. 42,580 (2) Rs. 43,000
(3) Rs. 43,923 (4) Rs. 44,228
Options :

92090658453. 1
92090658454. 2
92090658455. 3
92090658456. 4

Question Number : 15 Question Id : 92090614795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The perentage of loss when an article is sold at Rs. 50 is the same as that of the profit
when it 1s sold at Rs. 70. Percentage of profit or loss on the article 1s

(1) 10% (2) 12%
(3) 16 2";" (4) 8 Lo
£ )} — S0 L =l
3 3
Options :

92090658457. 1
92090658458. 2
92090658459. 3
92090658460. 4

Question Number : 15 Question Id : 92090614795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The perentage of loss when an article is sold at Rs. 50 is the same as that of the profit
when it 1s sold at Rs. 70. Percentage of profit or loss on the article 1s

(1) 10% (2) 12%
(3) 16 2";" (4) 8 Lo
£ )} — S0 & — %0
3 3
Options :

92090658457. 1
92090658458. 2
92090658459. 3
92090658460. 4

Question Number : 16 Question Id : 92090614796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which number comes next in the following series?
0, 5, 22 57, 1186,
(1) 216 (2) 205
(3) 207 (4) 192
Options :
92090658461.
92090658462.

92090658463.
92090658464.

AW N =



Question Number : 16 Question Id : 92090614796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which number comes next in the following series?
0, 5,22 57 118,
(1) 216 (2) 205
(3 207 (4) 192
Options :
92090658461.
92090658462.

92090658463.
92090658464.

AW NN~

Question Number : 17 Question Id : 92090614797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following group best represented by the figure below:

{(A) Men, Citizions, Educated
(B)  Professionals, Doctors, Lawvers
(C)  Diseases, Leprosy, Scurvy
(D) Earth, mountain, Forests.

(E) Atmosphere, Water, Hydrogen.

Choose the correct answer from the options given below :

(1)  (A) and(B) only
(2) (B) and (D) only
(3)  (A) and (D) only
(4)  (C) and (E) only
Options :



92090658465. 1
92090658466. 2
92090658467. 3
92090658468. 4

Question Number : 17 Question Id : 92090614797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following group best represented by the figure below:

(A)  Men, Citizions, Educated
(B)  Professionals, Doctors, Lawvers
(C) Diseases, Leprosy, Scurvy
(D)  Earth, mountain, Forests.

(E) Atmosphere, Water, Hydrogen.

Choose the correct answer from the options given below :

(1) (A) and(B) only
(2) (B) and (D) only
(3 (A) and (D) only
(4) (C) and (E) only

Options :

92090658465. 1
92090658466. 2
92090658467. 3
92090658468. 4

Question Number : 18 Question Id : 92090614798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Idenitfy the correct water — image of the fig. (X)

Fig. (X)
(1) / (@) :
(3) - (1)

Options :

92090658469. 1
92090658470. 2
92090658471. 3
92090658472. 4

Question Number : 18 Question Id : 92090614798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Idenitfy the correct water — image of the fig. (X)

Fig. (X)
(1) / (@) :
(3) - (1)

Options :

92090658469. 1
92090658470. 2
92090658471. 3
92090658472. 4

Question Number : 19 Question Id : 92090614799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If in a certain language, GRASP is codes as BMVNEK, which word could be coded as
CRANE?

(1) FUDQH (2) GVERI
(3) HWFSJ (4) BQZMD
Options :

92090658473. 1
92090658474. 2
92090658475. 3
92090658476. 4

Question Number : 19 Question Id : 92090614799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If in a certain language, GRASP is codes as BMVNEK, which word could be coded as
CRANE?

(1) FUDQH (2) GVERI
(3) HWFSJ (4) BQZMD
Options :

92090658473. 1
92090658474. 2
92090658475. 3
92090658476. 4

Question Number : 20 Question Id : 92090614800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indians ﬁ Leaders

Singers

Which region represents leaders who are neither singers nor Indians?

(1) 3 (2) 6
(3) 2 (4) 4
Options :

92090658477. 1
92090658478. 2
92090658479. 3
92090658480. 4

Question Number : 20 Question Id : 92090614800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Indians n Leaders

Singers

Which region represents leaders who are neither singers nor Indians?

(1 3 (2) 6
(3) 2 (4 4
Options :

92090658477. 1
92090658478. 2
92090658479. 3
92090658480. 4

Question Number : 21 Question Id : 92090614801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who has won the women's singles title of Odisha badminton tournament held in
Cuttack, Odisha in the year 20227

(1) Ashly Barty (2) Unnati Hooda
(3) P V Sindhu {(4) Saina Nehwal
Options :

92090658481. 1
92090658482. 2
92090658483. 3
92090658484. 4

Question Number : 21 Question Id : 92090614801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who has won the women's singles title of Odisha badminton tournament held in
Cuttack, Odisha in the year 20227

(1) Ashly Barty (2) Unnati Hooda
(3) P V Sindhu {(4) Saina Nehwal



Options :

92090658481. 1
92090658482. 2
92090658483. 3
92090658484. 4

Question Number : 22 Question Id : 92090614802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pandit Shiv Kumar Sharma who passed away in May 2022 was a maestro of:

(1) Flute (2) BSantoor
(3) Tabla () Esrad
Options :

92090658485. 1
92090658486. 2
92090658487. 3
92090658488. 4

Question Number : 22 Question Id : 92090614802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pandit Shiv Kumar Sharma who passed away in May 2022 was a maestro of:

(1) Flute (2) BSantoor
(3) Tabla (4) Esrad
Options :

92090658485. 1
92090658486. 2
92090658487. 3
92090658488. 4

Question Number : 23 Question Id : 92090614803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Largest Gas pipe line in India is operated by which company?

(1) Relianece Petroleum (2) GAIL
(3) ONGC (4) Bharat Petroleum



Options :

92090658489. 1
92090658490. 2
92090658491. 3
92090658492. 4

Question Number : 23 Question Id : 92090614803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Largest Gas pipe line in India is operated by which company?

(1) Relianee Petroleum (2) GAIL
(3) ONGC {(4) Bharat Petroleum
Options :

92090658489. 1
92090658490. 2
92090658491. 3
92090658492. 4

Question Number : 24 Question Id : 92090614804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following can be recyeled 100%?

(1) Food waste (2) Glass bottles
(3) Alluminium ecans (4) Card board
Options :

92090658493. 1
92090658494. 2
92090658495. 3
92090658496. 4

Question Number : 24 Question Id : 92090614804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following can be recycled 100%?

(1) Food waste (2) Glass bottles
(3)  Alluminium cans (1) Card board
Options :

92090658493. 1
92090658494. 2
92090658495. 3
92090658496. 4

Question Number : 25 Question Id : 92090614805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : “The Restoration of life of Lok Sabha and State Assemblies to
Syear” is passed in the 52r Amendment of constitution of India

Statement II  :  99th Amendment of constitution of India provides for formation of
National Judicial Appointments Commission”.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement I and Statement 11 are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement [ is correct but Statement 1l is incorrect

(4) Statement [ is incorrect but Statement 11 is correct

Options :

92090658497. 1
92090658498. 2
92090658499. 3
92090658500. 4

Question Number : 25 Question Id : 92090614805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I ¢ “The Restoration of life of Lok Sabha and State Assemblies to
Syear” is passed in the 52 Amendment of constitution of India

Statement II  : 99t Amendment of constitution of India provides for formation of
National Judicial Appointments Commission”.

In the light of the above statements, choose the correct answer from the options given

below *

(1) Both Statement I and Statement 11 are correct

(2) Both Statement I and Statement 11 are incorrect

(3) Statement I is correct but Statement 11 is incorrect

(4) Statement [ is incorrect but Statement 1l is correct

Options :

92090658497. 1
92090658498. 2
92090658499. 3
92090658500. 4

Part B: Dev and Labour Studies

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear

Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

Question Number : 26 Question Id : 92090614806 Question Type : MCQ Option Shuffling : No Is

920906294
2

Online
Mandatory
75

75

300

Yes

0

1
920906477
Yes

null

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | :  Cyclical unemployment is defined as deviation of unemployed

from the natural rate of unemployment in an economy

Statement II  : Classical economists believe that at the level of full employment

some form of eyclical involuntary unemployment always exist.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement | and Statement II are true
(2) Both Statement I and Statement 11 are false
(3 Statement I is true but Statement II is false
(4) Statement I is false but Statement II is true

Options :

92090658501. 1
92090658502. 2
92090658503. 3
92090658504. 4

Question Number : 26 Question Id : 92090614806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R sERume

@ el srdogawn § bl SO &1 SUWRl @1 Uidfa® X 9 SRR &
fageH & w9 # giviita favgn a8

FYF 11 :  WRAE AfiEEt & Ay € & 39 IR & TR R 9o Rafwss sk
F1 $S ¥ N faemH | g

IR HYA & 3fidid |, 1 S 770 fawedl 1 | el 3 &1 994 Hifog

(1) PEISRIGAITTE

2) PYTISRITH A E

(3) HYFIFF g, AfBA HYT 1l A B
(4) BYT | 3FY B, b HUA 11 I B

Options :

92090658501. 1
92090658502. 2
92090658503. 3
92090658504. 4

Question Number : 27 Question Id : 92090614807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which ministry is responsible for conducting the Census of India.

(1)  Ministry of Home Affairs (2) Ministry of Urban Affairs
(3)  Ministry of Rural Affairs (4) Ministry of Statistics and Program
Implementation
Options :

92090658505. 1
92090658506. 2
92090658507. 3
92090658508. 4

Question Number : 27 Question Id : 92090614807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR B SRIUMET TR B9 8 & H-91 A1 ScRar 82

(1) g HAH™ (2) el BRI HA™
(3) gl ST HATd (4) HiEa®! IR SIHH HAFGT G

Options :

92090658505. 1
92090658506. 2
92090658507. 3
92090658508. 4

Question Number : 28 Question Id : 92090614808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 :
List 1 List I

(A) Post Colonialism. (I)'  An economic system
emerging in 1970s and
based on flexibility.

(B) Post Fordism (I) Critical of humanism and
essential ideas of
multiplicities and
differences.

(C) Post Structuralism (IIT) Cultures have been made
through oppressor-subject
relationship.

(D) Post modernism (IV) ways of thinking stressing
and plurality

Choose the correct answer from the options given below :

(1 Q- (B)-D), (C)-D), (D)-(AV)
(2)  (A)-aD, (B)-(I), (C)-(D, (D)-(AV)
(3)  (A)-AV), (B)-D), (O)-(D), (D)-(I1I)
(4)  (A)-(D, (B)-IV), (C)-(ID, (D)-(I)

Options :

92090658509. 1
92090658510. 2
92090658511. 3
92090658512. 4



Question Number : 28 Question Id : 92090614808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! | & Ty gl 1| &1 e Fifer

- gt -
(A) IR fufaware () 1970 & <@ H FRifG qur deefiaar
WX 1R U ai1ffas vomedt |
(8) IR BifgeH () HFGdE & Maad R fafdearsi aur
faugi & smavgs faaR
(€ IR TEAER (1) pfadl Wed-SNitd ey gr1 Afda
giel

(D) IR AYFAPdEE (Iv) R &, 9 & 9 Igaiieu & dlis

1= fau o fawedi # § 9El IR &1 994 Difee:
(1) (A=), (B)-(1, (C)-(I), (D)-(IV)
(2}  (A)-(I), (B)-(l1), (C)-(1), (D)-(IV)
(3)  (A)-(IV), (B)-(I1), (O)-(1), (D)-(1N)
(4) (A)-(11), (B)-(1V), (C)-(11), (D)-(1)
Options :
92090658509. 1
92090658510. 2

92090658511. 3
92090658512. 4

Question Number : 29 Question Id : 92090614809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the correct answer for sample variance and IQR respecticaly?

(1) = LI_I} ., IQR = 85-6: (2) §'= Z{x—;ﬂ , IQR = 8:-01
"~ n—
@ & :M . IQR = 03401 (4) s :M , IQR = 0:401
n n+l
Options :

92090658513. 1



92090658514. 2
92090658515. 3
92090658516. 4

Question Number : 29 Question Id : 92090614809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

yfceel TR 3R IQR & fold SH: Ugt 3R 1 g

= o -
(1) LG :Mr,@ﬁ:gg_& (2) 51:Mr‘r{?ﬁ:%_&
m—1 n=1
2
Slx. —x —X
(3) 53=‘_{£_Xlrfgﬁ=gi+a (4) 51=w—ﬂ,f93=%_a
n ' n+1 :

Options :

92090658513. 1
92090658514. 2
92090658515. 3
92090658516. 4

Question Number : 30 Question Id : 92090614810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one is a probability Sampling

(1) Systematic Sampling (2) Convenience Sampling
(3) Quota Sampling (1) Judgement Sampling
Options :

92090658517. 1
92090658518. 2
92090658519. 3
92090658520. 4

Question Number : 30 Question Id : 92090614810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



H1H-91 U Uiasal Feei 22

(1)  yumenTd FgeF (2) Ylaumug FesH
(3) el e @) i el
Options :

92090658517. 1
92090658518. 2
92090658519. 3
92090658520. 4

Question Number : 31 Question Id : 92090614811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II :

List I List 1T
(A) Economic survey (hH CS0
(B) MNational account statistics (II) ASER

(C) Report on currency and (III) RBI
Finance

(D) Annual survey of (IV) Ministry of Finance
Education report

Choose the correct answer from the options given below :

(1) (AW)-(IV), (B)-aD), (C)-(I1I), (D)-(I)
(2 (A)-0), (B)-AV), (C)-(11I), (D)-(II)
(3)  (A)-(IV), (B)-(I), (C)-(ID), (D)~(1I)
(4)  (A)-(D), (B)-(1I), (C)-(T), (D)-(L)

Options :

92090658521. 1
92090658522. 2
92090658523. 3
92090658524. 4

Question Number : 31 Question Id : 92090614811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt | & 91y g 1| B e S

- &t i
(A)  3nfiies wdagor () s,
(B) T TE At () TUHF.3R.
(€ HaI 3R fa< ufdde () SRS,

(D) TRen ufdden &1 aiftfies wdeu (v) o< damag

414 fau U fadeul # ¥ Wel I &1 I I
(1) (A)-0V), (B)-I1), (O)-(111), (D)-(1)
(2) (A, (B)-(IV), (C)-(II1), (D)-(lI)
(3} (A)-0V), (B)-(1), (O)-(II), (D)-(II)
(4) (A=, (B)-(1), (C)-(1), (D)-(1)

Options :

92090658521. 1
92090658522. 2
92090658523. 3
92090658524. 4

Question Number : 32 Question Id : 92090614812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which of the following state the teaching of sociology started for the first time in
india

(1) Maharashtra (Mumbai) (2) U.P. (Lucknow)
(3) Delhi (Delhi) (4) Bengal (Kolkata)
Options :

92090658525. 1
92090658526. 2
92090658527. 3
92090658528. 4

Question Number : 32 Question Id : 92090614812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R ¥ Frfaiad & 4 g Isg ¥ SaeRa &1 oi$9g GduyH SRY g3

(1) HER (Hes) 2) IU. (@G
3) faeft (@ (4) ST (PICBIa)
Options :

92090658525. 1
92090658526. 2
92090658527. 3
92090658528. 4

Question Number : 33 Question Id : 92090614813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the right chronology of the following Acts.

(A) The Industrial Disputes Act

(B) Payment of wages Act

(C)  Payment of Gratuity Act

(D)  Industrial Employment (standing order) Act

(E) Minimum wages Act

Choose the correct answer from the options given below :

(1) (A, (B), (©), (D), (E)
(2) (@), (K), (B), (C), (A4)
(3)  (E), D), (C), (B), (A)
(1) @), D), @A), (E), (C)

Options :

92090658529. 1
92090658530. 2
92090658531. 3
92090658532. 4

Question Number : 33 Question Id : 92090614813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafafaa sifefae &1 96t or F1 87
A SMENATE faare siffan

B. HuIgdl YITaH Hfefaw
c. vfder yrae sifafaan
D. SR AR (@cH aigw) ifafga

E. gAdH Holgyl SHfufam
1= feu o fawedi § 9 9El I &1 994 Difeg

(1) ABCD,E
(2 D,EBCA
(3) ED,CBA
(4) B DAEC

Options :

92090658529. 1
92090658530. 2
92090658531. 3
92090658532. 4

Question Number : 34 Question Id : 92090614814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who was the appointed as Finance portfolio in subhas Bose's Provisional
Government for free India on Octobar 21, 1943

(1) S. C. Bose (2) H. C. Chatterjee
(3) M. A. Aiyar (1) Lakshmi Swaminathan
Options :

92090658533. 1
92090658534. 2
92090658535. 3
92090658536. 4

Question Number : 34 Question Id : 92090614814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Wad URd & [T 21 SfdgeR, 1943 B Mdd YUY O &9 BT fdlRA (3RUE) WHR T fad
faum 1 w3t fbd FAge foan mar a2

(1) uwgHaw (2) UL "Fesn
(3) TUHU @R (4) & WY
Options :

92090658533. 1
92090658534. 2
92090658535. 3
92090658536. 4

Question Number : 35 Question Id : 92090614815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the right sequence in chronological order:

(A) India Gazette
(B) Madras Courier
(C)  Bengal Gazette
(D) Indian Herald
() Bombay Herald

Choose the correct answer from the options given below :

(L) (A (B), (C), (D), (E)
(2)  (B), (D), (C), (E), (A)
@) (C), (B), (A), (E), (D)
(1) (D), (A), (B), (C), (E)

Options :

92090658537. 1
92090658538. 2
92090658539. 3
92090658540. 4

Question Number : 35 Question Id : 92090614815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BIAHHG YR W - BT AL 1 1 87

A, SfSTiTee
B. HsMPHRW
C. &d TTele
D. ST
E. @l 8IS

4 fau 7T fasedl ¥ 9 9dl IR &1 994 Hifor -

() ABCDE
20 B, D,CEA
3) CBAED
@4 D,ABCE

Options :

92090658537. 1
92090658538. 2
92090658539. 3
92090658540. 4

Question Number : 36 Question Id : 92090614816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who proponed the drain of wealth theory?

(1) Daba bhai Noroj (2) Mahadev Govind Ranada
(3) R.CDult (4) Dr. B R. Ambedkar
Options :

92090658541. 1
92090658542. 2
92090658543. 3
92090658544. 4

Question Number : 36 Question Id : 92090614816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



. B Rigid &1 ufdured feua faear ur?

(1)  TIGTHTS ARTSlt (2) Hged Tidg IS
(3) SR HE.gd @) BIdl3R. AdsH
Options :

92090658541. 1
92090658542. 2
92090658543. 3
92090658544. 4

Question Number : 37 Question Id : 92090614817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the commen concept used for development in Gandhi's village republics and
Arusha declaration for African socialism?

(1) Growth (2) Self-reliance
(3) Market (1) Self-governance
Options :

92090658545. 1
92090658546. 2
92090658547. 3
92090658548. 4

Question Number : 37 Question Id : 92090614817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it B AH-TTURT 3R 3Hbid! GHSAIE & fau ey Igusn § s & foe uged
AT HHed-1 71 87

1) d< ) -
(3) EIEIR (4) dEMHA
Options :

92090658545. 1
92090658546. 2
92090658547. 3
92090658548. 4

Question Number : 38 Question Id : 92090614818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 -

List I List II
(A) Periodic labour force survey (I) RBI
(B) Consumer pyramid Household survey (II) NCAER
(C) Consumer confidance survey (III) CsO
(D) India Human Development survey (IV) CMIE

Choose the correct answer from the options given below :

(1) (A)-(IID), (B)-(IV), (C)-(1D), (D)-(I)
(2)  (A)-IV), (B)-AID), (C)-(D), (D)-(1I)
(3)  (A)-(IV), (B)-(D), (C)-(1D), (D)-(11I)
(4)  (A)-(II), (B)-(IV), (C)-(D), (D)-(1L)

Options :

92090658549. 1
92090658550. 2
92090658551. 3
92090658552. 4

Question Number : 38 Question Id : 92090614818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
! | & |y gt 1 &1 fieE Sifoe

- gt -l
(A) 3Mafie yH Sd Fdam () R s,
(B) JUMIE RIS e wdemr () T . T 3. 3R
(C) IuMiad fayr wdam (T, S,
(D) HRAHFGRemudao  v) €@ uH I g

2 fau v fasedi H 9 9l IR &1 994 DifI;

(1) (A=), (B)-(1V), (O)-(l1), (D)-(I)
(2)  (A)-(V), (B)-(111), (C)-(1). (D)-(IN)
(3)  (A)-(V), (B)-(1), (C)-(In), (D)-(IlT)
(4) (A=), (B)-(1V), (©O)-(1), (D)-(II)



Options :

92090658549. 1
92090658550. 2
92090658551. 3
92090658552. 4

Question Number : 39 Question Id : 92090614819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which Political Party has largest Members in Rajya Sabha.

(1) Congress (2) Samajwadi Party
(3) Bahujan samajwadi Party (4) Bhartiya janta party
Options :

92090658553. 1
92090658554. 2
92090658555. 3
92090658556. 4

Question Number : 39 Question Id : 92090614819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 9HT H 59 Io-Ta® gd & Haiiis 5w 87

(1) HiUg (2) YHTSEE! uref
(3) S goF JHS el (4) HRAH ST uref
Options :

92090658553. 1
92090658554. 2
92090658555. 3
92090658556. 4

Question Number : 40 Question Id : 92090614820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II :

List I List 11
(A) Frictional (I) Unemployment that results because
unemployment the number of jobs available in some
labour market is insufficient.
(B) Discouraged (I) The process by which workers find
workers appropriate jobs given their tastes
and skills.
(C) Structural (II1) individuals who would like to work
unemployement but have given up looking for job.
(D) Job search (IV) Unemployment at results because it
take time for workers to search for
the johs.

Choose the correct answer from the options given below :

(D (A)-D), (B)-D), (C)-(IV), (D)-(11I)
(2)  (A)-ID, B)-(D), (C)-(D), (D)-(IV)
(3 (A)-AV), (B)-AID, (O)-(D), (D)-(1D)
(1) (A)-AV), (B)-AD), (C)-(I1D), (D)-(D)

Options :

92090658557. 1
92090658558. 2
92090658559. 3
92090658560. 4

Question Number : 40 Question Id : 92090614820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Il | & |y = 11 e S

G-I i
(A) 3P SSETHL () d8 SRRl of fHdt 91 IR H
Tl $1 Ui T8I & Haaeyq

gt gl

(B) galdied ddddl () dg ufchar d gRT Sd®al S(a-t
¥ SR ®Ia & FFEU Iugad
Tl T g1

(€) EIEATHS SR () cafdd [y o &1 S 98 Wy
H DI TATY B dg D (AT 8 |

(D) HTH B T (V) T8 SSFTHT ol Sriddis &1 el
aaRF | H are 99§ By
gl 81

14 feu Tt fasedi # 4 9t IR &1 984 DI

(1) (A-, B)-(n, (O-(V), (D)-(1N)
(2)  (A)-(), (B)-(1), (C)-(I), (D)-(IV)
(3 (A)-IV), (B)-(111), (O)-(1), (D)-(11)
(4)  (A)-(IV), (B)-(I1), (©)-(11), (D)-(1)

Options :

92090658557. 1
92090658558. 2
92090658559. 3
92090658560. 4

Question Number : 41 Question Id : 92090614821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who coined the concept of “Power elite” to describe the small group of Indivisuals
Who Hold Disproportionate power in society?

(1) C. Wright Mills (2) Emile Durkheim
(3) Karl Marx (1) Michel Foucault
Options :

92090658561. 1
92090658562. 2



92090658563. 3
92090658564. 4

Question Number : 41 Question Id : 92090614821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATl P1 a8 Bl Y Sl THS H SHHIdS Afdd Te0 Sl &' $l Ieaid HA & few
Qfed-SHATT B b1 fg- Uid 12

(1 o uge e (2 ufiegdm
(3)  rId HIEY (4) AIEHA BIHT
Options :

92090658561. 1
92090658562. 2
92090658563. 3
92090658564. 4

Question Number : 42 Question Id : 92090614822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : The concepts of absolute poverty and relative poverty are the
same
Statement II  :  Over time absolute poverty in india has declined.

In the light of the above statements. choose the correct answer from the options given

below :

(1) Both Statement I and Statement Il are true
(2) Both Statement | and Statement 11 are false
(3) Statement [ is true but Statement Il 1s false

(4) Statement [ is false but Statement II is true

Options :



92090658565. 1
92090658566. 2
92090658567. 3
92090658568. 4

Question Number : 42 Question Id : 92090614822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FA APy UM E:

&Y | ol TRIE SIR ATafE TRie @ Hehe e gHHE €

HYF I : T & WY YRa § guf e 1 g5 e

IR HYA & 3HTale H, A AU U fabedt # 9 "el I &1 95 Sifee

1) SYFIMRITAIIR
2 YT SR I TE T
(3) HYFIFI g, Al FUF 1l FA
(4) HUTI T g, AT HUT I A E

Options :

92090658565. 1
92090658566. 2
92090658567. 3
92090658568. 4

Question Number : 43 Question Id : 92090614823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ :  Non-sustainble population growth has been a major concern even
in the early period of confucious and Anstotal. According to
Alfred Malthus if uncheaked population will growth in geometric

ratio.

Statement I  : While malthus believed that in case of population growth
subsitence economy (supply of food ete) will also grow in

geometric ratio.

In the light of the above statements. choose the correct answer from the options given

below -

(1) Both Statement I and Statement Il are true
(2) Both Statement I and Statement 11 are false
(3) Statement [ is true but Statement 11 is false

(4) Statement I is false but Statement II is true

Options :

92090658569. 1
92090658570. 2
92090658571. 3
92090658572. 4

Question Number : 43 Question Id : 92090614823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R FERTmE:

HUT | : HHRREY AR R F RS H1a 1 i HURIY ST 3fg Uh UiE 90
Tl 81 SIh S T & SR TR-GIel U] S-EE ST Sfard o ge|

HUF || : HIHH &1 0d Ul [ S8e gfe & 39 aia § Fafg srfegawn (e &1 smyfd
311f) oft wnfirdta srqard & s¢i |

I HY & fald |, A e 71e fasedi & | el 3 &1 994 $ifoiw

(1) SR IS TaE

2) YIRS T g

(3) YT A g, Al HYF 1| 3 8
(4) U 3T B, BT HUT 1 A

Options :

92090658569. 1
92090658570. 2
92090658571. 3
92090658572. 4

Question Number : 44 Question Id : 92090614824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 -

List I List I1
(A) Population Trap ()  A.O. Hirschman
(B) Big-Push (I) Paul Rosenstain-Radan
(C) Inverted U-curve (IIT) Alfred Malthus
(D) Unbalanced Growth {(IV) Simon Kuznets

Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(I1D), (C)-(D), (D)-(AV)
(2) (M), (B)-(IV), (C)-(ID), (D)-(I1I)
(3)  (A)-(ID), (B)-(ID), (C)-(IV), (D)-(I)
(4)  (A)-(ID), (B)-(D), (C)-(1D), (D)-(IV)

Options :

92090658573. 1
92090658574. 2
92090658575. 3



92090658576. 4

Question Number : 44 Question Id : 92090614824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T | & Ay g 1 &1 s S
-1 gt -

(A) SFEE 9| () waf fgdEA
@) femgw () Oid JeTeT e
() Jeelyg-dé (1) b3 HIUH

(D) SrEgfed i (Iv) HZHA Po(cH
= fau v fasedi # | 9l I &1 994 DI

(1) (A=), (B)-(), (C)-(1), (D)-(IV)
(2) (A=), (B)-(1V), (C)-(I), (D)-(1)
(3) (A, (B)-(1), (C)-(1V), (D)-(1)
@) (A)-(l), (B)-(1), (C)-(l), (D)-(1V)

Options :

92090658573. 1

92090658574. 2

92090658575. 3
92090658576. 4

Question Number : 45 Question Id : 92090614825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not correct?
(1)  Transfer earning are the minimum payment that is required in order to keep a
factor of production in its present use.

(2) Economic rent 1s a payment received by a factor of production over and above
what would be needed to keep it in its present use.

(3)  The total payments to a factors of production ean be seperated into transfer
earning and economic rent.

(1)  The balance between transfer earning and economic rent dose not depend on
the elasticity of supply of a particular kind of labour.



Options :

92090658577. 1
92090658578. 2
92090658579. 3
92090658580. 4

Question Number : 45 Question Id : 92090614825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrofaRea 7 9 s1-w1 981 78 82
(1) RIFG 3foF d AqH YITdH & o] 30 IUART §q daHH J IdTeA & Uh DR
& ¥ ¥ 1@ $1 aaehdl grl 8

2 e R IaeT & ged & IR R I fF ung JfaE g 8
o1 S0 A IUEN §q I8 &1 I Hdl gl |

3) IdrRA S [FHl ged F gul YIdH &1 RIFIRY 36 3R e e & dier o1

&l g

(4) MR 36 R i vl & g dqa- &l iRy ueR & y1 31 smyfd 1
araeitaar R R 78 a8

Options :

92090658577. 1
92090658578. 2
92090658579. 3
92090658580. 4

Question Number : 46 Question Id : 92090614826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the following options:
(A) Microeconomics 1s the study of particular markets and section of the economy,
rather than the economy as whole.

(B) Microeconomics tends to use theory, rather than empirical evidence to explain
changer in individual markets and industries.

(C)  Microeconomics is concerned with decision making by individuals housecholds
and firms.

(D)  Macroeconomics 1s the study of economic behaviour and decision making of the
whole economy,rather than individual markets.

(E) a

Choose the correct answer from the options given below :

(1) Aonly

(2) A, Bonly

(3) A, B, C only
(4) A, B, C,Donly

Options :

92090658581. 1
92090658582. 2
92090658583. 3
92090658584. 4

Question Number : 46 Question Id : 92090614826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FofifEa e &1 faar o --

A. ¥ IIRE HUU ¥ 9 sifoaawyl g 3t e sifogawyl & Ay SeRT iR @
HETA g |

B. o IR AfTd IR SR I URAcHI S R B HIHT o-g TIeT DI HUET
Rrgidl & wa & Uad Sl g |

c. P g safaadl uREr) 3R Sufal gr1 Avfg $33 § 96fda 21

D. UHP IR AfdkTd SIERT $1 sen Gyl srfeuawy & e saeRr SR fAvfg &4
&1 ST B

1 feu 7o faeedi § | Hel IR &1 944 Hiferg :

(1) dd A

(2) dd A B

(3) @dd A,B,C
(4) dd A, B,C,D

Options :

92090658581. 1
92090658582. 2
92090658583. 3
92090658584. 4

Question Number : 47 Question Id : 92090614827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Battle of Plassey was fought in the year

(1) 1752 (2) 1757
(3) 1764 (4) 1789
Options :

92090658585. 1
92090658586. 2
92090658587. 3
92090658588. 4

Question Number : 47 Question Id : 92090614827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

R &1 g & BT UT?

(1) 1752 (2) 1757
(3) 1764 (4) 1789
Options :

92090658585. 1
92090658586. 2
92090658587. 3
92090658588. 4

Question Number : 48 Question Id : 92090614828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following Act in colonial era destroyed the monopoly of trade of the East
India Company in Indian Sub-continent

(1) The charter Act of 1793 (2) The charter Act of 1813
(3) The Act of 1858 (1) The Act of 1861
Options :

92090658589. 1
92090658590. 2
92090658591. 3
92090658592. 4

Question Number : 48 Question Id : 92090614828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafaa 7 9 fFa sfifFge 3 siufFaRe sa § YRdg-3ursgl § 5 sfea Ul &
FUR & UHIUHR S GH $HL a1 UT?

(1) 9T AT 1793 (2) 9T fUfaH 1813
(3) 1858 &1 AHfgFTH @) 1861 &1 4T
Options :

92090658589. 1
92090658590. 2
92090658591. 3
92090658592. 4



Question Number : 49 Question Id : 92090614829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who said that, “History is a graveyard of Elite"?

(1) C. R. Mills (2) T. B. Botomore
(3) H. D. Laswell (4) Perroto
Options :

92090658593. 1
92090658594. 2
92090658595. 3
92090658596. 4

Question Number : 49 Question Id : 92090614829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SiER ST 1 HaTe & fFa Fer1un

(1) U ™ (2) <iddieER
(3) TSl diad 4) el
Options :

92090658593. 1
92090658594. 2
92090658595. 3
92090658596. 4

Question Number : 50 Question Id : 92090614830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

In Lewis two sector model of structural tranaformation

Statement I: The prosses of transforming an economy in such a way that the
contribution to national income by the manufacturing sector

eventualy surpasses the contribution by the agriculture sector.

Statement II:  The concept of surplus labour refers to the proportion of the rural

labour force whose marginal productivity is zero or negative.

In the light of the above statements, choose the correct answer from the options given

below *

(1) Both Statement I and Statement Il are true
(2) Both Statement I and Statement Il are false
(3) Statement [ is true but Statement Il is false

(1) Statement [ is false but Statement Il 1s true

Options :

92090658597. 1
92090658598. 2
92090658599. 3
92090658600. 4

Question Number : 50 Question Id : 92090614830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) FYFIRIFTIAS

(2) Y1 R 1S ST §

(3) HUF| T g, Alhd HU Il 39 g
(4) ®YFI HE g, dfhd HUT 11 TA 8

Options :

92090658597. 1
92090658598. 2
92090658599. 3
92090658600. 4

Question Number : 51 Question Id : 92090614831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one is the most appropriats option for applying the analysis in a research.

(1) Sample with standard deviation value 10
(2) Sample with SD value 15

(3) Sample with SD value 95

(4) Sample with SD value 4

Options :

92090658601. 1
92090658602. 2
92090658603. 3
92090658604. 4

Question Number : 51 Question Id : 92090614831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fofefEd 3 SH-91 U bl Dy 7 fagayor ar] s & e e Iuga fade g1

(1) vcdafRarre ffeaagsai0 (@ uftexiaRd e g 1s
(3)  wfcred afgd va.dl 7w 95 (4) e wfied wa3t geu 4

Options :

92090658601. 1
92090658602. 2
92090658603. 3
92090658604. 4

Question Number : 52 Question Id : 92090614832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(A) The binomial probability distribution is a discrete probability distribution.

(B) In a binomial experiment the probability of a success dose not change from
trial to trial.

(C) However, the probability of a failure can change from trial to trial in a
binomial experiment.

(D)  The trials in a binomial experiment are not independent.

(E) In a binomail experiment only two outcomes are possible.

Choose the correct answer from the options given below :

(1) A,BandC only
(2) A, D and E only
(3) A, B and E only
(4) C, D and E only

Options :

92090658605. 1
92090658606. 2
92090658607. 3
92090658608. 4

Question Number : 52 Question Id : 92090614832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A.  Tgue duregal faavur U Que SyTegal faavor giar |
B. fobdli fgug udier &, udierur-gr-udiarm 9 Yherar &1 YHTegal uikdfdd gl gidl ¢

C. aun, i fgue udiemr #, srawmadr &1 STl Udiaul-e3-udiem uiafdd 8l
qFdl gl

D. fgue udiemr & wdiem w@da T8 ald &
£ &l fgue udie # Saa o Frfa dva €1
12 fau o fasedl # 9 gl ST &1 994 SHiforg :

(1) &dd A B3RC
(2) &dd A DSIRE
(3) @dd A BSIRE
(4) &dd C,DIARE
Options :

92090658605. 1
92090658606. 2
92090658607. 3
92090658608. 4

Question Number : 53 Question Id : 92090614833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(A) Eduecation improves work opportunites for women, which makes having
children more costly in terms of income foregone

(B) Education and employment delay marriage and the time available to rear
childern

(C)  Education improve the status, bargaining power and independence of women,
encouraging and enabling them to make their own choices.

() Education and literacy make women more receptive to information about
Contraception

(E) Educated women want their own childern to be educated, which encourages
the situation of having more childern.

Choose the correct answer from the options given below :

(1) AandD only
(2) B and C only
(3) B, C, D, and E only
(4) A B, C, and D only

Options :

92090658609. 1
92090658610. 2
92090658611. 3
92090658612. 4

Question Number : 53 Question Id : 92090614833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e nigansfi & e &1 & SfawRi § YUR HXdl g s diuRa s S Sy A sl &
BT &1 3ifeIes Hgam F1a 2

& 3R AR faare # 3R 91e # 9= @4 91 9= §q IUas I9g ¥ fadd #3d ¢

e die-yra g qur F-adad &1 [ufd § UR Sl § off 3@ (U Wy &)
TfE &1 999 &3 §q Uienfed SiR vy &1t 81

e 3R WeRdl SRR favgs a1 & fou Afgansi &1 sifts arel a4 g1

fféra wigen oua 92 &1 R S TEdl € 599 i 92 81 &t Rufa &1 Jgrar
P g1

i fau 7T fasedi # 9 9l IR &1 994 Do ;

(1) @ad A3RD

(2) ad B3RC

(3) ®dd B,C,D3RE

(4) Hdd A B C3RD
Options :

92090658609. 1
92090658610. 2
92090658611. 3
92090658612. 4

Question Number : 54 Question Id : 92090614834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(A)

(B)
(€)
(D)
(E)

A bar chart is a graphical display of categorical data.

Histogram is a graphieal display of quantitative data.

Pie chart is graphical display of catagorical data.

A scatter diagram is a graphical display of relative frequency distribution.

A relative frequency distribution is a tabular summary data showing the
relative frequency for each class.

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A), (B) and (D) only
(A), (B) and (C) only
A, B and E only
B. C and D only



Options :

92090658613. 1
92090658614. 2
92090658615. 3
92090658616. 4

Question Number : 54 Question Id : 92090614834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, ER 91¢ WP Se1 &1 UH MY UL 8|

B. (R aRHTIHS Sl &1 Ud HIfi Ue=H g

C. U 91¢ Wy Sel & U I e g

D. b ST3U WAfa sngft fdavun &1 v sanfidig ugeH g

E. Wféd smaf fadvor uds o & o amiiées sgf <ui= ard v uRufles digm
CiEEA

12 fau o faswedl # 9 el ST &1 994 Sifog :
(1) &dd A B3IRD

(2) @dd A B3IRC

(3) &dd A BSIRE

(4) &dd B,C3RD
Options :

92090658613. 1
92090658614. 2
92090658615. 3
92090658616. 4

Question Number : 55 Question Id : 92090614835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following is not correct about Economic Development?

(1) An increase in the standard of living.
(2) A reduction in poverty and income inequality.
(3)  An increase in political freedom.

(1)  An increase in gender inequality.

Options :

92090658617. 1
92090658618. 2
92090658619. 3
92090658620. 4

Question Number : 55 Question Id : 92090614835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3nfifes faepra & IR A Fafdifed & @ 19 -91 vs gad w6l 82

(1) ofigq-Fafe & o9s d gfg (2) TRIE qUl M SHHE H S
(3) eAfae Waddl | g @) o s | afg
Options :

92090658617. 1
92090658618. 2
92090658619. 3
92090658620. 4

Question Number : 56 Question Id : 92090614836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | :  Globally, more than 61.2 percent of the employment are engaged

in the informal economy.

Statement II ;A significant proportion of the informal employment 1s accounted

for by self-employed micro and small units.

In the light of the above statements, choose the correct answer from the options given

helow -

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement II are false
(3) Statement [ is true but Statement II is false

(4) Statement [ is false but Statement Il is true

Options :

92090658621. 1
92090658622. 2
92090658623. 3
92090658624. 4

Question Number : 56 Question Id : 92090614836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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IUIad YA & e H, A f&u e fawedi # § el 3T &1 994 Sifel

(1)
(2)
(3)
(4)

YT R NS g §

HY | 3R 11 3T A §

HY | 9 g, A HYA || A §
HYA | 3T ¢, Aled U 11 T &

Options :

92090658621. 1
92090658622. 2
92090658623. 3
92090658624. 4

Question Number : 57 Question Id : 92090614837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A) : The process of structural transformation of Indian economy in terms
of moving out of workers from agriculture to non-agriculture sector
has reversed since 2018. Estimates indicate that the employment
share of agriculture sector has increased 2 percentage points from

42.2% 1n 2017 - 18 to 44.2% 1n 2020-21.

Reasons (R): The massive reverse migration withnessed during the COVID-19
pandemic have significantly contributed to this and net addition of

workers in the agriculture sector.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3 (A) 1s correct but (R) is not correct

(1) (A) 1s not correct but (R) is correct

Options :

92090658625. 1
92090658626. 2
92090658627. 3
92090658628. 4

Question Number : 57 Question Id : 92090614837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RS s Rumue:

HYT | - BRI & HTd A TR-SATG &5 &1 AR o & Fao # YR sifogarn &
IS Fqiaeul &1 Uiehar 2018 | fAdH 81 Sfidba ddrd & & Hiterd aFs o
AR @1 RERT 2017-18 H 42.2% W 2020-21 H 44.2% ¥ 2 Ufdwd 921 8|

HUF | : PIfdS 19 ARl f3a TR R [Audld var 1 Al 38 ok as & SR
& Faa FdieH ¥ 399 Aeayul areE &

IR HY & 3l |, 19 fou e fawedl 1 9 el 3w &1 994 $ifon

(1) HYFIARISHI TS

(2) B 3R IS 3 B

(3) YA A g, dichd HUA Il A &
(4) Y| AT B, dfh FYF 11 T B

Options :

92090658625. 1
92090658626. 2
92090658627. 3
92090658628. 4

Question Number : 58 Question Id : 92090614838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II :

List I List 11

(A) Circular and cumulative (I) Paul Krugman
causation

(B) Model of regional growth (II) Robert Solow
model

(C) New Economic geography (II1) Gunnar Myrdal
(D) Neoclassical growth model (IV) Prebisch and Kaldor

Choose the correct answer from the options given below :

() A)-D). B)-AV), (C)-(1D), (D)-(I1I)
(20  (A)-(1D), (B)-(IV), (C)-(ID), (D)-(D)
(3)  (W)-(IV), (B)-1I), (C)-(D), (D)-(D)
(4)  (A)-(ID, (B)-(IV), (C)-(D), (D)-I)

Options :



92090658629. 1
92090658630. 2
92090658631. 3
92090658632. 4

Question Number : 58 Question Id : 92090614838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A | &y 1 @ e St

-1 gt -l
(A) TP 3R Tedt i () Uid &
() &ty gfg ufaesu &1 dfsd () &d e
(€ ¥ o o iy TR ASa

(D) TA-URURS (AdiETea) gig Alsd (v) W 3R FeR
19 f3u e faseedl # ¥ el TR &1 904 Fifr:

(1) (A=), (B)-(IV), (O)-(In). (D)-(1N)
(2) (A=), (B)-(IV), (C)-(1), (D)-(1)
(3)  (A)-(IV), (B)-(1), (C)-(11), (D)-(1)
4) (A=), (B)-(IV), (O)-(1), (D)-(1N)

Options :

92090658629. 1

92090658630. 2

92090658631. 3
92090658632 4

Question Number : 59 Question Id : 92090614839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a government of India scheme of social protection for
the rainy day which can Lift people out of the low-income trap?

(1) Pradhan Mantri Vaya Vandana Yojana.

(2) Pradhan Mantri Jeevan Jyoti Bima Yojana.

(3) Pradhan Mantri Suraksha Bima Yojana.

(4)  Mahatma Gandhi National rural Employment Gaurantee scheme.



Options :

92090658633. 1
92090658634. 2
92090658635. 3
92090658636. 4

Question Number : 59 Question Id : 92090614839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafed # Q &F W@ diem1 TRE 9g J 9Hifeis a1 & fot YRd TWSR &1 OieH 81 8
ol A & F9-3ma S | 91eR Ferd et

(1) U g g1 gIeE

(2) Uy St saifd & giern

(3)  UUEHAT Y& JHHT e

(4)  HETHT T AP ATHIOT ISR TRET AT

Options :

92090658633. 1
92090658634. 2
92090658635. 3
92090658636. 4

Question Number : 60 Question Id : 92090614840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the development Economics, To look the effect of Income on porventy [Poventy =
127-0.425Y] to some hypothetical data then what is the impact of income on
Poverty. Also R? value from this data is 79.9%.

(1)  The dependent variable impacted by the independent variable by 79%
(2)  The independent variable impacted by the dependent variable by 42.5%

(3) The dependent variable impacted by the independent variable by 42.5%
(4) The independent variable impacted by the dependent variable by 79%

Options :

92090658637. 1
92090658638. 2
92090658639. 3
92090658640. 4



Question Number : 60 Question Id : 92090614840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fAp sduRd # WHd W 40 F UHE P 3@ F U 5 aRefud Srer
Rid=127-0.425Y] 1 74 30 BT TRl R FT U4 & &d 39 S1e1 I R2 HT HH 79.9% 8
(1)  ¥0d =R 3RAAT TR gRT 79% UHIfad g3

(2)  3f¥EdA 9 WA IR gRT 42.5% UHIEd g3l

(3) ¥dF R REdA IR GRT 42.5% UHIdd ga|

(4)  3EdA TR WA W gRT 79% UHIfdd g3

Options :

92090658637. 1
92090658638. 2
92090658639. 3
92090658640. 4

Question Number : 61 Question Id : 92090614841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who authored the book ‘Mother India™?

(1)  Annie Besant (2) Katherine Mayo
(3) Jawaharlal Nehru (4) Nargis Dutt
Options :

92090658641. 1
92090658642. 2
92090658643. 3
92090658644. 4

Question Number : 61 Question Id : 92090614841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A -3 EUr Y by ferdl 412
(1) Tils¥e (2) Huda i
(3) SRR T 4) WfEeT



Options :

92090658641. 1
92090658642. 2
92090658643. 3
92090658644. 4

Question Number : 62 Question Id : 92090614842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | :  Dualism describes a condition in which developing countries find
themselves in the early stage of development which can have

implications for the future pattern of development.

Statement I : The new economic geography show how centripetal and
centrifugal forces depend on the balance between transport cost
of importing input and exporting output on the one hand, and

increasing returns to geographic specialization on the other.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement I and Statement I are true
(2) Both Statement [ and Statement II are false
(3) Statement | is true but Statement 11 is false
(1) Statement [ is false but Statement II is true

Options :

92090658645. 1

92090658646. 2

92090658647. 3
92090658648. 4



Question Number : 62 Question Id : 92090614842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RS HERRume:

HUF | : gadlg U T ofawyl & forad faereiid 3 9e & [ad™ & URHS =Roi # urd §
forgep! drea fdsr & Hidt ufaesy R €1 9 B

@Y || - Fd1F i 1id g a2l & b S8 Sl HEg 3R udbaiy g0 U b ATl
& g au Ffdl & g @ ufitded ard & dqaq SR gadl iR yiife™
fagfier 1R ggd ufawrd R AR S gl

IR HYA & 3fidld H, 14 S 71u [dwed] § | el 3 &1 994 $ifeg

1) YR NS IE e
() FYFISRISH AT
(3) HYITA g, dfp HYF 1| AT &

(4) HY| ATA g, dlb YA 1 T &

Options :

92090658645. 1
92090658646. 2
92090658647. 3
92090658648. 4

Question Number : 63 Question Id : 92090614843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement | :  Ensure full and productive employment and decent work for all
woman and men, including through formalization is a major goal

of decent work programme for India.

Statement 11 : It is imperative that the Indian economic policies urgently focus
on productive and decent employment given the narrowing

window of India’s demographic dividend.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement 11 are false
(3 Statement I is true but Statement II is false

(4) Statement I is false but Statement II is true

Options :

92090658649. 1
92090658650. 2
92090658651. 3
92090658652. 4

Question Number : 63 Question Id : 92090614843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e €1 Fu fau MU § UH SfUHUA (Assertion A) F T ¥ fafad § o IR IS HRUI
(Reason RIS EY ¥

HUPUA A :  SUARSIHIV & Hiegd Higa G Afgars ok goui & fou gof qur gwa
ASHTR SR TR 18 YR $31 YRd & fau nimgef & sy &1
U T e

PFRUIR : g fqsmawgs g fe yRa &1 snfde ifodl smawasd ¥ U ¥ 9%d 3R
TREgY 9RO Bigd PR Aifd YR &1 SHEiRESE i
HABIAD gl

IUIR HY & 3fdid H, A AU 17 fawel 7 3 el Iugd I &1 994 Sifer

(1)  ASRREFI TS § SRR, AP U AR B

(2) ASIRREH HEl g AfF R, A 1 9 e 7ET &
(3) AT AfBIRIG Tl

(4) AEETEIE, Al R TG ©

Options :

92090658649. 1
92090658650. 2
92090658651. 3
92090658652. 4

Question Number : 64 Question Id : 92090614844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A) : A family farm in a labour surplus economy might employ labour

beyond the point where marginal product equals wage.

Reasons (R): The wage in this case is not really a wage at all, but the average

output (average product) of the farm.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 15 correct but (R) 1s not correct

(4) (A) is not correct but (R) is correct

Options :

92090658653. 1
92090658654. 2
92090658655. 3
92090658656. 4

Question Number : 64 Question Id : 92090614844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



11 €1 $Y AU MU § U SHHBYA (Assertion A) F FU ¥ fifad @ @t N1 39S BRI
(Reason R) FFEY T

AJMFYT A : TS Y RN rfcrawy § U URaiis IW # U Wl 4 3ifds yH
e B3 Yahd @ gl HiHid 3d1E 34 & IR 8l

®RUIR : o OHd H dd4 o/ d H 3d4 A8l & Uig I9H &1 Sid ffd (sied I@re)
gl

JUIE HYA & 3ffdie H, 1 fou 7 fabed] # 9 998 Iugad IR &1 994 Sifoe

(1) ASRRIATIEIE SRR A D H3 AR &

2 ASRREH Tl 8, Al R, A D U A 81 ©
(3) AWEE AMPARISAEE

(4) AUETEIE, AfbTR TG

Options :

92090658653. 1
92090658654. 2
92090658655. 3
92090658656. 4

Question Number : 65 Question Id : 92090614845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a health indicator to measure economic development?

(1) Health care expenditure as a percentage of GDP
(2) Child mortality rates.

(3) Higher population growth rate.

(1) Life expectancy at birth.

Options :

92090658657. 1
92090658658. 2
92090658659. 3
92090658660. 4

Question Number : 65 Question Id : 92090614845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



8 A BH 41 1S (g &1 7o & U @Rl Y& el 67

(1) Sft St ufaerd & U 7 @Ry gRa oy
2 SEHIR

(3)  3Hi¥US T [dH™ &

(4) O & gAY Sl W

Options :

92090658657. 1
92090658658. 2
92090658659. 3
92090658660. 4

Question Number : 66 Question Id : 92090614846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Great Depression refers to the world-wide economic erisis, during:

(1) 1920s (2) 1930s
(3) 1940s (4) 2007-2008
Options :

92090658661. 1
92090658662. 2
92090658663. 3
92090658664. 4

Question Number : 66 Question Id : 92090614846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR T Q) Ry F o o T B e 2, o o AR g o

(1) 1920 F STHH (2) 1930 H 3H H
(3) 1940 F TS H (4) 2007 - 2008
Options :

92090658661. 1
92090658662. 2
92090658663. 3
92090658664. 4



Question Number : 67 Question Id : 92090614847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is correct for the life expectancy at birth of various Indian
states, for descending order for year 2010-14

(1) M.P., Andhra Pradesh, Punjab, Kerala
(2)  M.P., Andhra Pradesh, Kerala, punjab
(3 Andhra Pradesh, M.P., Panjab, Kerala
(4) Kerala, Punjab, Andhra Pradesh, M.P

Options :

92090658665. 1
92090658666. 2
92090658667. 3
92090658668. 4

Question Number : 67 Question Id : 92090614847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gy 2010-2014 & forw saiet w0 H Fofafeg # 9 [Aftm yrda a0t & foo 98t o=
U 1 87

(1) | Uy, iy U=, Uold, Ha
(2) FHYSY, Y U, P, TS
(3) iYW, W WHT, U,
(4) A, YoITd, iy U, He WS

Options :

92090658665. 1
92090658666. 2
92090658667. 3
92090658668. 4

Question Number : 68 Question Id : 92090614848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements : One 1s labelled as Assertion (A) and the other 1s

labelled as Reason (R).

Assertion (A) : Women make up a substantial majority of the world’'s poor.

Reasons (R): The prevalence of female-headed house-holds, the lower earning
capacity of women and their limited control over their of spouses’

income, all contribute to this disturbing phenomenon.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 18 correct but (R) is not correct

(1) (A) 15 not correct but (R) is correct

Options :

92090658669. 1
92090658670. 2
92090658671. 3
92090658672. 4

Question Number : 68 Question Id : 92090614848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T A FYFRTME:
&Y | ; Afgan fay & Rl &1 te arafas agwd s )

FYA || . A YU URGRT &1 UeeH, Afge & 9 36 &Hal auT 39 Shaatil &1 3
R Hiftra g @ wi 39 e & ard uRhen ® aieFE 3 8

I Y & 3fdld |, A1 fou v fasedi § | "l 3w &1 994 $ifou

(1) &SR NI I
(2) @Y1 R I SHl T §
(3) Y[ Td g, Al Y || A 8

(4) ©YA| HTA B, Afbd HUT I FA 8
Options :
92090658669. 1
92090658670. 2
92090658671 3
92090658672. 4

Question Number : 69 Question Id : 92090614849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which country 15 hosting the 2023 G-20 Global summit

(1) India (2) Nepal
(3) Pakistan (4) China
Options :

92090658673. 1
92090658674. 2
92090658675. 3
92090658676. 4

Question Number : 69 Question Id : 92090614849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BH-1 3 Y AT G-20 B Aolal- B 81 82

(1) HRd (2) Adrd
(3) UrfbwH 4 dHF



Options :

92090658673. 1
92090658674. 2
92090658675. 3
92090658676. 4

Question Number : 70 Question Id : 92090614850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the correct sequence of the following schems?

(A) MGNREGA

(B) P.M. Gram Mudra Yojna

(C)y P.M. Sharm Yogi Man-Dhan Yojana

(DY P. M. Street Vender's Atmnirbhar Nidhi.

Choose the correct answer from the options given below :

(1) (D), (C), (B), (A)
(2) (A, (0), (B), (D)
(3 (O, A), (B), (D)
(4)  (A), (B), (O), (D

Options :

92090658677. 1
92090658678. 2
92090658679. 3
92090658680. 4

Question Number : 70 Question Id : 92090614850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafeiad drersll &1 98t sibHd 1 87

A, HAEM

B. ULUH. UM g1 Tl

C. UluH 471 Ot 7E o= g

D. UluH e dsv etk Al

< fg ¢ faeredl # 9 Wel IR &1 994 S -

(1) D,CBA
2y ACBD
(3) CABD
4 ABCD
Options :

92090658677. 1
92090658678. 2
92090658679. 3
92090658680. 4

Question Number : 71 Question Id : 92090614851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which year was the Mahatma Gandhi National Rural Employment Guarantee Act,
passed-

: 2007
1 2005 (2) 2007

(3) 2009 (4) 2014
Options :

92090658681. 1
92090658682. 2
92090658683. 3
92090658684. 4

Question Number : 71 Question Id : 92090614851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Herer el st wretor AsmR R i fh o arggen ur

(1) 2005 (2) 2007
(3) 2009 (4) 2014
Options :

92090658681. 1
92090658682. 2
92090658683. 3
92090658684. 4

Question Number : 72 Question Id : 92090614852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following organisation published the ‘Economic Survey'?

(1) NITIAYOG (2) Ministry of Finance
(3) Central Statistical Organisation (4) Reserve Bank of India

Options :

92090658685. 1
92090658686. 2
92090658687. 3
92090658688. 4

Question Number : 72 Question Id : 92090614852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofafad # 9 SF-91 94 e Tdaur UHIid &d g2

(1) ifq smam 2) faddarag
(3) Holy Tilkems! Hiraq (4) HRd™ ed a6
Options :

92090658685. 1
92090658686. 2
92090658687. 3
92090658688. 4

Question Number : 73 Question Id : 92090614853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which is not a cause of market failure?

(1) Private goods (2) Merit goods
(3) Public goods (4) demerit goods
Options :

92090658689. 1
92090658690. 2
92090658691. 3
92090658692. 4

Question Number : 73 Question Id : 92090614853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR RG] &1 U BRI BIH-91 T8l 87

(1) el awge (2) g gy
(3) Wdwi® a&qd (4) SFY IEU
Options :

92090658689. 1
92090658690. 2
92090658691. 3
92090658692. 4

Question Number : 74 Question Id : 92090614854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

In the Harrod-Domar growth model

Statement | :  Growth rate of the economy i1s directly proportional to saving
rate.
Statement II  :  Growth rate of the economy is directly proportional to capital

labour ratio.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement Il are false
(3) Statement [ is true but Statement Il is false

(4) Statement I is false but Statement Il is true

Options :

92090658693. 1
92090658694. 2
92090658695. 3
92090658696. 4

Question Number : 74 Question Id : 92090614854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



eIS-SIMR Ydlg AT H -
HYA | ; fTaRI B gig G U EU A g9d I DI YHHUKRN gl ¢

&Y | ; SdTal Y gfe R e U I Usil-4H SHUTd & FHHET gdl 8 |
TR HYF & 3MTeres |, - f3u Mo fasedl # 4 Ul I &1 991 S

(1)  HYFISRNSHI I g

(2)  BYFI AR ISHI TT ¢

(3) Y| A g, Afh S 1| A §
(4)  HYF | YW g, AfBT HYUF I A §

Options :

92090658693. 1
92090658694. 2
92090658695. 3
92090658696. 4

Question Number : 75 Question Id : 92090614855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II :

List I List I1
(A) Green Revolution (I) Industrial lisencing change
(B) Pro-business orientation (I) Non performing Assets
(C) Economic Reform (IIT) High yielding seeds
(D) Balance-sheet crisis (IV) More supportive goverment

to the existing business.

Choose the correct answer from the options given helow :

(1) (A)-D, B)-ID, (C)-(I1V), (D)-I)
(2) Q- (B)-(D), (C)-AV), (D)-(1D)
3 (AW)-ID), (B)-AV), (C)-[), (D)~
(4)  (A)-ID, (B)-D), (C)-(1D), (D)-(IV)

Options :

92090658697. 1
92090658698. 2
92090658699. 3
92090658700. 4



Question Number : 75 Question Id : 92090614855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & 91y g 1| B e S

Il gt
() Bid wifd () SN agdRiT uRads
(B) SHGUM-Yd SAfHfd=arg () TR UEeHSRT Sl
(€ o gur () I gAY oS
(D) AL Hhe (V) HIS[El a9 g 31t
WEHdTHR] TER

42 fau v fawedl & 9 Tl IR &1 99 DI

(1) (A=, B)-(1), (C)-(1V), (D)-(IN)
(2) (A=), (B)-(I), (C)-(1V), (D)-(IN)
(3)  (A)-(), (B)-(IV), (O)-(1), (D)-(IN)
(4)  (A)-(, (B)-(1), (C)-(1), (D)-(IV)

Options :

92090658697. 1
92090658698. 2
92090658699. 3
92090658700. 4

Question Number : 76 Question Id : 92090614856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What was the relative contribution in GDP in 1951 of various sector - primary,
secondary and tertitary respectively Select the correct option from the following:-

(1) 65, 20, 15 (2) 20, 65,15
(3) 15, 65, 20 (4) 20, 60, 20
Options :

92090658701. 1
92090658702. 2
92090658703. 3



92090658704. 4

Question Number : 76 Question Id : 92090614856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1951 &1 GDP Sitemdt 7 fafis &1 oI f urufire, fgdia qur gdig aae &1 smifées greE
&1 YUT?

(1) 65, 20, 15 (2) 20,65, 15
(3) 15, 65, 20 (4) 20, 60, 20
Options :

92090658701. 1
92090658702. 2
92090658703. 3
92090658704. 4

Question Number : 77 Question Id : 92090614857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are the major Cantours of social Mevements?

(A) Conflict and suffering, stretural strain

(B) Ildentily politics, organisational resources and their mobilization.
(C) IDagitalization of social movement

(D) Recognised violation of cultural norms

(E) The development of cyber crimes

Choose the correct answer from the options given below :

(1)  (A), (D) and (E)
(2) (), (D) and (E)
(3)  (A), (B) and (C)
(4)  (B), (D) and (E)
Options :
92090658705. 1
92090658706. 2

92090658707 3
92090658708. 4



Question Number : 77 Question Id : 92090614857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT SHiGIeHT &1 Jel Ul T g7

A, fdare ud digr, @=AeTs gdd

B. UgHM &I AHIfd, Waldd Wy ud Iep! nicefierd
C. i il &1 fSforeciiao

D. WikPpfdd AHS! BT AU Jeaiy

E. WI3sR 3Rl &1 fasbrd

i< fu 7Y faeheul # 9 Wel IR &1 99 Sifoy :

(1) &ad A B3RE

(2) &dd C,D3RE

(3) ad A B3IRC

(4) ad B, D IRE
Options :

92090658705. 1
92090658706. 2
92090658707. 3
92090658708. 4

Question Number : 78 Question Id : 92090614858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following Public Interest Litigation (PIL) has been undertaken to secure
harassment laws at workplace?

(1) Hussainara Khatoon vs. the state of Bihar
(2) Samantha vs. State of Andhra Pradesh and Other
(3) Citizen for Democracy vs. State of Assam
(4)  Vishaka vs. the State of Rajasthan
Options :
92090658709. 1

92090658710. 2
92090658711. 3



92090658712. 4

Question Number : 78 Question Id : 92090614858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g # 9 oH-0 9Aied aiie srdwe W 3ddisT § 991@ & o a5 7S 82

(1) ORI g 99 fagR I

(2)  GHYT S 3y U 9 4 A

(3) S BR SRR §9H S™H I9
(4)  faumEr 99 ISHE T

Options :

92090658709. 1
92090658710. 2
92090658711. 3
92090658712. 4

Question Number : 79 Question Id : 92090614859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Marginalisation of tribal communities in India may not be understood in terms of’

(1) Dispossession of claim over Natural resources
(2)  Displacement as a result of development projects
(3) Attachment towords traditional ways of life

(1) Limited scope for social mobility

Options :

92090658713. 1
92090658714. 2
92090658715. 3
92090658716. 4

Question Number : 79 Question Id : 92090614859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HRd H ST TG & ATdTER0r o1 fdd TR 9 e JHS S -

(1) Uiplded TGOyl IR TIPSR
2) fawfyd &l & SR fawrmge
(3)  iF & URURS TP Bl TG Fbid
(4)  wHIoE TfRiterd & e Hifta uga

Options :

92090658713. 1
92090658714. 2
92090658715. 3
92090658716. 4

Question Number : 80 Question Id : 92090614860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which option does not cause an increase in productivity in an economy?

(1) Longer working hours (2) Advances in technology
(3) Specilization of labour (1) Higher level of education and traimg
Options :

92090658717. 1
92090658718. 2
92090658719. 3
92090658720. 4

Question Number : 80 Question Id : 92090614860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & 9 ®F-w fdee srdogawd & Iare # gig g dxarn

(1) &M FH S AR ge (2) ISl B HfeHdl
3) 4! St FgumEr (@) TR1&T ud ufRiem &1 3= wR
Options :

92090658717. 1
92090658718. 2
92090658719. 3
92090658720. 4



Question Number : 81 Question Id : 92090614861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(A)  The highest point on the normal distribution curve is at the mean.

(B) The mean of the distribution can be either negative, zero or positive.

(C)  The normal distribution is symmetric.

(D) The mean of a normal distribution determines how flat and wide the normal
curve 1s.

(E)  Probabilities for normal randam varible are given by areas under the normal
curve.

Choose the correct answer from the options given below :

(1) (A) and (B) only

(2) (A), (B) and (D) only

(3) (A), (B) and (C) only

(4) (A), (B), (C) and (E) only

Options :

92090658721. 1
92090658722. 2
92090658723. 3
92090658724. 4

Question Number : 81 Question Id : 92090614861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. G AR 9 IR I=ad fdg 7ren W gl e

B. fdaRur &1 Hien a1 o BUNED, YA I1 ¢S &l obdl g

C. WM faaRur uferama gt 81

D. UM faawu &1 Wiy gg Feiivd & @ & amra g fban gure ¢k 911 31
£ OW URfesd @R & o st wmg aw & siel &sf gri & ot 81

i< fau 71u faseut # | Hel I 1 U Hifore -

(1) &dd ASIRC
(2) &dd A B3IRD
(3) &dd A B3IRC

(4) dd A B C3IRE

Options :

92090658721. 1
92090658722. 2
92090658723. 3
92090658724. 4

Question Number : 82 Question Id : 92090614862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the author of ‘Economics of Inequality™

(1) Amartya Sen (2) Joseph Stiglitz
(3) Thomas Piketty (1) Jagdish Bhagwati
Options :

92090658725. 1
92090658726. 2
92090658727. 3
92090658728. 4

Question Number : 82 Question Id : 92090614862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



“SRHF B AT ] AGH B 67

(1) Hd A 2) % Refer
(3)  UmY Ued (4) SIS HITacH
Options :

92090658725. 1
92090658726. 2
92090658727. 3
92090658728. 4

Question Number : 83 Question Id : 92090614863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not the priority of development under Millennium
Development Goals (MDGs)

(1) Eradicate poverty and hunger

(2)  Achieve universal primary education

(3 Promote gender equality and empower women

(4)  Universalise secondary and higher education.

Options :

92090658729. 1
92090658730. 2
92090658731. 3
92090658732. 4

Question Number : 83 Question Id : 92090614863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofafad § 9 &1 91 YgHifes AP @88 & ded f[Ae™ &1 Uiyl 181 62

(1) TR 3R YEHA 1 I S
2) i mrufiies fRrar urd &
(3) i FHEA 3R AR GRHH 01 B Ui ol
(4) WIS 3R IR &M BT AdHIHD IS0 A

Options :
92090658729. 1
92090658730. 2



92090658731. 3
92090658732. 4

Question Number : 84 Question Id : 92090614864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per the Human Development Report UNDP, what the value and rank of India?

(1) 0.633, 132 (2) 0962, 120
(3 0.754, 87 (4 0.712, 109
Options :

92090658733. 1
92090658734. 2
92090658735. 3
92090658736. 4

Question Number : 84 Question Id : 92090614864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A4 fdhTd FGIE UNDP & 38R, HRd &1 9 IR I& 1 82

(M 0.633, 132 (2) 0962, 120
(3) 0.754, 87 (4) 0.712, 109
Options :

92090658733. 1
92090658734. 2
92090658735. 3
92090658736. 4

Question Number : 85 Question Id : 92090614865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

National Institute of Rural Development (NIRD) is situated at:

(1) Chennai (2) Bhubaneswar
(3) Hyderabad (1) Indore

Options :



92090658737. 1
92090658738. 2
92090658739. 3
92090658740. 4

Question Number : 85 Question Id : 92090614865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R AT faeTE R (NIRD) 81 Rd 87

1y =93 2) YaIR
(3) gevEg 4 FW[R
Options :

92090658737. 1
92090658738. 2
92090658739. 3
92090658740. 4

Question Number : 86 Question Id : 92090614866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Famines are caused by entitlement failures rather than as a result of food
availability decline’, is said by

(1) Pranab Bardhan (2) Jagdish Bhagavti
(3) Manmohan Singh (1) Amartya Sen
Options :

92090658741. 1
92090658742. 2
92090658743. 3
92090658744. 4

Question Number : 86 Question Id : 92090614866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



“oF Il § HH F UM & WEU Bl 3M0al HPld ghaRl (3AcIgcaHc)
B3 & HRUIEId ¢ 1" [ha Fer o

(1) UuE g (2) TSI HATa
(3) HAHIEA g @) Al T
Options :

92090658741. 1
92090658742. 2
92090658743. 3
92090658744. 4

Question Number : 87 Question Id : 92090614867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One i1s labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A) : Most of the Indian users use Whatsapp (a social messaging app), not

Telegram (another social messaging app).

Reasons (R): The average cost of using whatsapp i1s less than Telegram due to

large network size of Whatsapp and historical lock - in effect.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanationof A
(2) Both A and R are correct and R is NOT the correct explanationof A
(3) A is correct but R is not correct

(4) A is not correct but R is correct

Options :

92090658745. 1
92090658746. 2
92090658747. 3
92090658748. 4



Question Number : 87 Question Id : 92090614867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ha 3 By AU MU & TP 3BT (Assertion A) & w0 H foilEd § o gEI 3D HRUI
(Reason R}%F‘J f-'f;

SHBYT A ;SIS R YOl 9ICHY (U HHToID SR SHTEH-USH TU) 6T UGk
Y g, T (T 30 FIHIS® S 1S Ual U) &1 UG 98l did o |

HRUR: aedd & iU 93 Aedd HPR AR el dld-34 UuE & SR
qTeqq & YN D1 3 Gd ART ST o1 3Ual FH |

JURIR HYA & 3Mdle H, A 3T T fabeul 7 4 el Iugd 3R &1 994 Hifelu

(1) A SIRRSH HEl € 3R, A P Tl TAAT &

(2) A SIRRSH Hgl € AP R, A T Uel RS T8l &
(3) AWEIE AfPTR ST

(4) AYEEl g AfbT R TGl 8

Options :

92090658745. 1
92090658746. 2
92090658747. 3
92090658748. 4

Question Number : 88 Question Id : 92090614868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the case of externality, which of the following will be correct?

(1) People demand less education than desirable for society
(2) People demand more education than desirable for society
(3) People demand equal education what ever derirable for society

(1) Niether people nor society demand for education

Options :

92090658749. 1
92090658750. 2
92090658751. 3
92090658752. 4



Question Number : 88 Question Id : 92090614868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
eIl & Heiy H, Fofifed § @ SH-a1 w8l g

(1) @ 9 & fore aifesa fRien & srden &1 e &1 A S 21
() N HHS & fore difed Rien o1 sien st e &1 7 & €|
(3)  NTHHM e B 7T R B S GA S foe giw gl g

(4) 19 ErT 3R A & WS e o1 Ji Hd g

Options :

92090658749. 1
92090658750. 2
92090658751. 3
92090658752. 4

Question Number : 89 Question Id : 92090614869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A) : COVID-19 crises has affected many young people at a critical
movement in their lives disrupating their transition from school or

university to work.

Reasons (R) ;'  Ewvidence form previous crises show that entering the labour market
during a recession reduces longer term employment probabilities,

wages and the prospects for on-the-job skill development

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanationof A
(2) Both A and R are correct and R 15 NOT the correct explanationof A
(3)  Aiscorrect but R is not correct

(4) A is not correct but R is correct

Options :

92090658753. 1
92090658754. 2
92090658755. 3
92090658756. 4

Question Number : 89 Question Id : 92090614869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



11 €1 $Y AU MU § U SHHBYA (Assertion A) F FU ¥ fifad @ @t N1 39S BRI
(Reason R}%F‘I ﬁ;

AFYTA ;. BIAS-19 Hhe F $s AodE alll & oiigd I U YHeyol J99 W) ITH]
uIfad T § au1 31! fagred a1 fayfaeney Sige &M R oH & fau
fqafed faan g1

HRUIR : UdabTdi e & F1ed aQid ¢ b Al & A 97 SR # Yag A1
dFHTA AR (Gureaarsl, Aegdl 3R & & IRE DINa [GH B
GTRN &1 HH B ¢ |

JUIE HYF & 3fTared H, 1 fou 70 fadedi 7§ 9 998 Iugdd IR 1 994 Sifon

(1)  ARRIATTE € SRR A P! TSl AR 8

2 ASRREH Ul g, Al R, A T U A 81 ©
(3) AWEE AMPAIRIS AT

(4) AWETEIE AfPTR TG

Options :

92090658753. 1
92090658754. 2
92090658755. 3
92090658756. 4

Question Number : 90 Question Id : 92090614870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange in chronological oder,

(A) The Untouchables, who are they?
(B) Who were the shudra?

(C)  Annihilation of caste

(D) States and Minorities

(E) Emancipation of the untouchables

Choose the correct answer from the options given below :

(D A, (B), (C), (D), (E)
(2)  (O), (E), (B), (D), (A)
(3) (D), (E), (A), B), (C)
(1) (O), (A), (B), (E), (D)



Options :

92090658757. 1
92090658758. 2
92090658759. 3
92090658760. 4

Question Number : 90 Question Id : 92090614870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BIAHHTIR HdYd DI -
A AFdBHAE?

B. YEdHAL

C. wfadl &1 faer

D. Y 3R fERIEIFH
E.  3f@dl &1 3guR
1 feu 7o faeedi § 9 9el I &1 994 Hifelg :

(1) ABCD,E
(2) CEBDA
3) D.EABC
4 CABED

Options :

92090658757. 1
92090658758. 2
92090658759. 3
92090658760. 4

Question Number : 91 Question Id : 92090614871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following was not the part of the structure of Agrarian classes under the
settlements during colonial period.

(1) Artisans (2) Landlords

(3) Peasants {(4) Labourers



Options :

92090658761. 1
92090658762. 2
92090658763. 3
92090658764. 4

Question Number : 91 Question Id : 92090614871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RS F1a § dEaa & faid FUS I S WG &1 U oF1 Fofafad d 3 9 @
el ur

(1) AR (2) SHIER
(3) feam (4) WO
Options :

92090658761. 1
92090658762. 2
92090658763. 3
92090658764. 4

Question Number : 92 Question Id : 92090614872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Mughal Emperor Farruiksivar had granted to the English East India company
exemption from customs on all goods in the year-

(1) 1700 (2) 1710
(3) 1717 (4) 1725
Options :

92090658765. 1
92090658766. 2
92090658767. 3
92090658768. 4

Question Number : 92 Question Id : 92090614872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el YT HHERR A el 3% 3f8d o o il axgefil R Su-3e 9 ge &9 oo
TS &1 Ui

(1) 1700 (2) 1710
(3) 1717 (4) 1725
Options :

92090658765. 1
92090658766. 2
92090658767 3
92090658768. 4

Question Number : 93 Question Id : 92090614873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to ILO, what are the conponents required for understanding of Decent
work?

(A)  Aspirations of people, Production opportunities

(B) Security in the workplace, freedom for people.

(C)  Social protection for families and social Integration

(D) Training. Autonomy

(E) Promoter and states control

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only
(2) (A), (D) and (E) only
(3) (B), (C) and (D) only
(4) (C), (A) and (E) only

Options :

92090658769. 1
92090658770. 2
92090658771. 3
92090658772. 4

Question Number : 93 Question Id : 92090614873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ILO & 3FIUR, 17 H1d &1 YA 8 I d 9¢h 1 87
A. T BT BT, IUGADRI AT

B. HIIRYE YR JR&M, AR ®I WAl

C. URNaRI &1 arferes & ArAifeies Uil

D.  UfRr&ur wma=id

E. UIcEd SR g FHda

4 fau 7T fasedl § 9 9l IR &1 994 DI ;

(1) ad A B3RC
(2) ®dd A D3IRE
(3) @dd B, C3RD
(4) $dd C ASRE

Options :

92090658769. 1
92090658770. 2
92090658771. 3
92090658772. 4

Question Number : 94 Question Id : 92090614874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per the UNDP Report on Multidimentional poverty, what 1s the correct
percentage of people in multidimensional poverty in India in years 2005-06, 2015-16
and 2019-21 respectively

(1) 55.1, 27.7, 16.4 (2) 16.4, 227, 55.1
(3) 27.7,556.1,16.4 (4) 80.0, 25.5, 10
Options :

92090658773 1
92090658774. 2
92090658775. 3
92090658776. 4

Question Number : 94 Question Id : 92090614874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Fg o T W UNDP &1 RUIE & SR, HRd H HHRE: a4 2005-06, 2015-16 T4T 2019-
21 AT & agsmar THid! &1 Hel uiawrd ® g2

(1) 55.1, 27.7, 164 (2) 164, 22.7, 55.1
(3) 27.7, 55.1, 164 (4) 80.0, 25.5, 10
Options :

92090658773. 1
92090658774. 2
92090658775. 3
92090658776. 4

Question Number : 95 Question Id : 92090614875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements -

Statement | :  Lewis model divides the economy in two sectors: subsistence and
modern.
Statement II  :  According to the Lewis model in a developing country context, as

development progresses, people from the modern sector move to

the subsistence sector in order to bring fruits of development.

Given of the above two statements, choose the most appropriate answer from the

options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement | and Statement II are false
(3) Statement [ 15 true but Statement 11 is false

(4) Statement [ 1s false but Statement Il is true

Options :

92090658777. 1
92090658778. 2
92090658779. 3



92090658780. 4

Question Number : 95 Question Id : 92090614875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR FERUMUE:
®HUF | : Ay Higa srfoqawal & sfrefifdat quT e <1 &F # fauford s g

&Y | ; Tl fadraeiia 3 & e A dfdy Aisd & SFUR, SR-o faerif gidl 8, @
YD &7 I SAToiidd! &3 DI 3R fdbr B Heilyd B & R T HRaA 8 |

IR HYF & 3fdld H, 1 fSu e fawed! 7§ 9 9l 3 &1 99 $iferw

() ®FISR NI g

(2) HYIHR IEH T ¢

(3) YA A g, dichd HUA Il S Fd &
(4) ®YF| AFd g, dichd DY 11 T B

Options :

92090658777. 1
92090658778. 2
92090658779. 3
92090658780. 4

Question Number : 96 Question Id : 92090614876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . Economic underdevelopment is the outcome of a massive

coordination failure.

Statement II  : Pervasive complementarities might lead to a situation where an
economy 1s stuck in a “Low-level equilibrium, trap” while there is
another better equilibrium, if only all agents could appropriately

coordinate their actions.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both Statement I and Statement Il are true
(2) Both Statement I and Statement Il are false
(3) Statement I is true but Statement II is false

(1) Statement [ is false but Statement II is true

Options :

92090658781. 1
92090658782. 2
92090658783. 3
92090658784. 4

Question Number : 96 Question Id : 92090614876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 €1 $Y U MU § U SHHBYA (Assertion A) F FU  H foiad § @ ¥R 39S HRUI
{Reason R}a'TF':f ﬁ;

HUA| fa®™ & 3 srfogawyl Us gedq WH-ag SPhadl &1 URuH gl &

YA Il : AP SRS d&U 39 FRUfd 3R sprmt gict § 5igl Uah srfaaawt Fg-
TR TgeH $aw’ H Y Sl 8, Wefd U 3 dgaR Udad ad gidl ¢ dfg
Tt wole o SR &1 IugEd T A GHGY R T |

IR YA & 3fdld H, H19 iU U fadhedl § 9 T6d Iugad IR &1 994 Sifoll

(1) YIRS TG e

2)  BYFT ISR ISH A B

(3) BYT | HA g, A HYA 1| 3T B
(4) HUYTI HTA g, A1 FUT I T 8

Options :

92090658781. 1
92090658782. 2
92090658783. 3
92090658784. 4

Question Number : 97 Question Id : 92090614877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ : The conventional view is that high rate of population causes
problems for the whole world because it adversely affects human

welfare.

Statement II  : It uses up scarce resources and causes environmental
degradation as well as reducs the saving ratio, leads to

overcrowding and creates the problem of unemployment.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both Statement I and Statement [I are true
(2) Both Statement I and Statement Il are false
(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement II is true

Options :

92090658785. 1
92090658786. 2
92090658787. 3
92090658788. 4

Question Number : 97 Question Id : 92090614877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



919 1 YA 3T U § UP 3FYT (Assertion A) F F0  H fifad 8 dl T IUF HRUI
(Reason R) & ¥Y W

AMFYT A - WREG 2P SHEET $f 98 39 oI gidl & ol I0 fay & fou guwn &1
HRU ] & i T8 HIFd HeuIvl R Yagd UHE STad! 8

HRUIR Og goH SEIYET $T IUANT Yl & adl iRy FoEieR & ary-ary
&9d UTd B HH B $T RO G941 ¢ Wl 3MF e B1 SR s gt
€ T SRISR] 31 §Hw1 Uel Hdl g

SR HYF & 3MTard H, 9 30 U fdhedl & @ ad Iuge FR &1 997 SHifog

(1) ASMRREHITE § 3R R, A DI TE AR B

(2) ASIRREH HEl g, AMBAR A DI UEl AT 7ol &
(3) AWEIE Al REE S B

@ AUETEIE APTREEE

Options :

92090658785. 1
92090658786. 2
92090658787. 3
92090658788. 4

Question Number : 98 Question Id : 92090614878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R).
Assertion (A) : The popular belief that India had never been an industrial country.
Reasons (R) :  Agriculture was the dominant occupation of her people but the

products of Indian industries enjoyed a worldwide reputation.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanationof A
(2) Both A and R are correct and R is NOT the correct explanationof A
(3)  Aiscorrect but R is not correct

(4) A is not correct but R is correct

Options :

92090658789. 1
92090658790. 2
92090658791. 3
92090658792. 4

Question Number : 98 Question Id : 92090614878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4= g1 oy QU U §: U@ fUSYA (Assertion A) & &4 ¥ fofEd § df gO 39D SR
{(Reason R}%F‘Iﬁ;

APUT A - U8 °d U=Rrd & F yRd &) ue Sl 2w agt i

PHRUIR: YRd & T & foIU SN WIRE sqaumg o, TR YR I9RT & 3Gl 3
fay R o =i sifefa &1

SR B & 3dld H, A AU 70 fad el 7 § el Iugdd I &1 9949 Hifor

(1)  ASMRRIHA TG 3R R A DI el AT &

2) A SIRREH Hel g, e R, A DI Tl oURE T8 &
(3) AWEIE APIRUS TEE

(4 AUEITEIE, AfBTRUENE

Options :

92090658789. 1
92090658790. 2
92090658791. 3
92090658792. 4

Question Number : 99 Question Id : 92090614879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one is not a public goods?

(1)  National defence (2) Textile
(3) Law and orfer (4) Street light
Options :

92090658793. 1
92090658794. 2
92090658795. 3
92090658796. 4

Question Number : 99 Question Id : 92090614879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fofafed 7 @ oH-4 e grdee o 78 82

(1) ISR gRaT 2 &
(3) DI HaRI @) ¥lcdse
Options :

92090658793. 1
92090658794. 2
92090658795. 3
92090658796. 4

Question Number : 100 Question Id : 92090614880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements : One is labelled as Assertion (A) and the other 1s

labelled as Reason (R).

Assertion (A) : Social security benefits and a capitalist economy are related to each
other
Reasons (R): Widespread poverty i1s a direct consequence of the limited

effectiveness of social security provision

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R 15 the correct explanationof A
(2) Both A and R are correct and R is NOT the correct explanationof A
(3) A is correct but R is not correct

(4) A is not correct but R is correct

Options :

92090658797. 1
92090658798. 2
92090658799. 3
92090658800. 4



Question Number : 100 Question Id : 92090614880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hia &1 YA RT T § U HHSYA (Assertion A) B ©Y  H faf@d g df gOI 3D BRI
(Reason R}a'?m ﬁ;

HYBYT A - WIS & TATH a7 Yoltare] srdoqael IReR Haitd gid g |

PRUIR : ggd waid TRIE YATiSie AT WayE BT Hifd UHIaSIdT ST Uh Udal
HIFH B

IURIE $YF & 3Merd H, i iU 10 fasedi # 9 968 Iugdd IR &1 984 Sifon

(1)  ASIRREH Gl g 3R R, A DI G ARAT B

(2) ASIRREHI Tl g, Afd R, A D 9! SR T8 &
3) AWEE AFIRIG TR

4 AWETEE AfPTREE R

Options :

92090658797. 1
92090658798. 2
92090658799. 3
92090658800. 4



